a) Use the product rule to show that if m is a positive integer then,


[image: image1.wmf]11

1

1

mm

d

xx

m

dx

-

=


b) By applying the product rule and the chain rule of differentiation to the functions 
[image: image2.wmf]()

ux

and 
[image: image3.wmf]1/()

vx

derive the quotient rule.

That is, show that
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Assume that 
[image: image5.wmf]()0

vx

¹

 for any 
[image: image6.wmf]x


_1145719983.unknown

_1145720190.unknown

_1145720229.unknown

_1145720251.unknown

_1145720012.unknown

_1145719821.unknown

